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Part A (Short Answer Questions)

Answer all questions.
- 1 mark each.

What do you mean by Enterocoelom ?

Note on Trypanosoma.

Define Binomial nomenclature.

Differentiate between Ostia and Osculum.

Give one éxample for each of the classes Polychaeta and Oligochaete.
Mention the salient features of Trilobite.

Name the disease caused by :
(a) Fasciola hepatica. (b) Wuchereria bancrofti.

Define the law of purity.
B8x1=8)
Part B (Brief Answer Questions)

Answer any six questions.
2 marks each.

Differentiate between Radial and Bilateral symmetry.
Comment on Limulus.

Make a note on Euplectella.

Give a brief description on sepia.

Write important characters of Balanoglossus.

Give the salient features of the Phylum Ctenophora with example.
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Write short notes on two kingdom classifications.
What do you mean by canal system in sponges ?
Write short notes on Obelia medusa.

Write a brief notes on the class Turbellaria.

Part C (Problems/Derivations)

Answer any four questions.
4 marks each.
Briefly explain Vectorial Arthropods.
Explain various steps involved in Pearl culture.
Classify Phylum Coelenterata upto classes giving examples for each class.

Explain the life-cycle of Taenia solium.

Write about :
(a) Hirudinaria.
(b) Peripatus.
Describe the characters of the Minorphylum Rotifera and Chaetognatha.

Part D (Long Answer/Problem Questions)

Answer any two guestions.
12 marks each.

Explain the life-cycle of Fascida hepatica.

With the help of labelled sketches explain the larval forms of Echinoderms.

Describe any three Pathogenic Nematodes.

Explain polymorphism in Coelenterates.
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